1	
2	
3	
4	
5	
6	
7	
8	
9	
10	
11	
12	
13	
14	
15	
16	
17	
18	
19	
20	
21	
22	
23	
24	
25	
26	
27	
28	

29

BILL NO. S-18-06-14

SPECIAL ORDINANCE NO. S-

AN ORDINANCE approving ST. JOE CENTER ROAD SIDEWALK: +/-1350' EAST OF REED ROAD TO MAPLECREST - RESOLUTION/W.O. #0108W - \$205,180.00 between GARCIA CONCRETE and the City of Fort Wayne, Indiana, in connection with the Board of Public Works.

NOW, THEREFORE, BE IT ORDAINED BY THE COMMON COUNCIL OF THE CITY OF FORT WAYNE, INDIANA:

SECTION 1. That the ST. JOE CENTER ROAD SIDEWALK: +/1350' EAST OF REED ROAD TO MAPLECREST - RESOLUTION/W.O.
#0108W - \$205,180.00 by and between GARCIA CONCRETE and the City of
Fort Wayne, Indiana, in connection with the Board of Public Works, is hereby
ratified, and affirmed and approved in all respects, respectfully for:

All labor, insurance, material, equipment, tools, power, transportation, miscellaneous equipment, etc., necessary for Construction and installation of a new 5' wide concrete sidewalk along the south side of St. Joe Center Road between the East P/L of 5814 Reed Rd. (Medical Protective) and the West P/L of 5693 YMCA Park Dr. West (Parkview Physician's Group). This section of walk will include the construction of a 70' long, 7' wide wooden pedestrian boardwalk crossing the Kruckenberg Drain, a few commercial drive approaches, and residential drive approaches. A second section of walk will consist of new 6' wide curbface sidewalk between the West P/L of 6218 St. Joe Center Rd. (Zesto Ice Cream) and Maplecrest Rd. This section of walk will also include a new commercial drive approach, a new ADA curb ramp, and installation of new 12" HDPE storm pipe and two new storm structures for drainage improvements;

1	involving a total cost of TWO HUNDRED FIVE THOUSAND ONE HUNDRED
2	EIGHTY AND 00/100 DOLLARS (\$205,180.00). A copy of said Contract is on
3	file with the Office of the City Clerk and made available for public inspection,
4	according to law.
5	
6	SECTION 2. That this Ordinance shall be in full force and effect
7	from and after its passage and any and all necessary approval by the Mayor.
8	
9	
10	Council Member
11	Council Member
12	APPROVED AS TO FORM AND LEGALITY
13	
14	
15	Carol Helton, City Attorney
16	
17	
18	
19	
20	
21	
22	
23	
$\frac{25}{24}$	
25	
$\frac{25}{26}$	
∠ U ∣	

COMMON COUNCIL DIGEST SHEET - SUPPLEMENTAL ST JOE CENTER ROAD SIDEWALK: +/-1350' EAST OF REED RD TO MAPLECEST RD

Action Requested:

Requesting an ordinance approving the St Joe Center Road Sidewalk: +/-1350' East of Reed Rd to Maplecrest Rd project pursuant to the Fort Wayne Public Works resolution 0108W and an award to Garcia Concrete in the amount of \$205,180.00.

Note: Garcia Concrete was the single bidder on the project.

Description and Scope of Work:

Construction and installation of a new 5' wide concrete sidewalk along the south side of St. Joe Center Road between the East P/L of 5814 Reed Rd. (Medical Protective) and the West P/L of 5693 YMCA Park Dr. West (Parkview Physician's Group). This section of walk will include the construction of a 70' long, 7' wide wooden pedestrian boardwalk crossing the Kruckenberg Drain, a few commercial drive approaches, and residential drive approaches. A second section of walk will consist of new 6' wide curbface sidewalk between the West P/L of 6218 St. Joe Center Rd. (Zesto Ice Cream) and Maplecrest Rd. This section of walk will also include a new commercial drive approach, a new ADA curb ramp, and installation of new 12" HDPE storm pipe and two new storm structures for drainage improvements.



Award

To:

Board of Works

From:

Mario A. Trevino

Director of Transportation Engineering Services

Date:

6/6/2018

Subject:

St. Joe Center Road Sidewalk - ±1350' East of Reed Road to Maplecrest Road

Resolution #: 0108W

W.O. #: 0108W

Attached is one (1) original and one (1) copy of the following to be placed on the BOARD Agenda for: 6/12/2018

Transportation Engineering Services recommends contract be awarded to:

Garcia Concrete Construction, Inc.

Award Amount: \$205,180.00

CITY OF FORT WAYNE

Date:

Kumar Menon, Member

Attest: Michelle Fulk, Clerk

		<u>.</u>				hest	i bid column
		Bidder's Bor Street Bank	Æinancial Statemer nd æde Maint Info	ol			x x x x
		EBE Declara E-Verify Affic Addendum I Addendum I Addendum I	davil No. 1 No. 2				х х х
				TOTAL:	\$208,200.00	TOTAL:	\$205,180,00
						% aver % under	0.00% 0.48%
Pro]	Tabulation SL Joe Canter Road Stdewalk - £1350' East of Read Road to Maptecrest Road		RES. NO.:	0108VY		1	
Bid Date				0108W Estimate	T ALCONO	BIODER	Garcia Concrete Construction, Inc.
NO.	Pedestrian Boardwalk (includes Concrete Poet Foundations & Concrete End	PLAN QTY	UNIT	UNIT COST Est (\$)	AMOUNT Est (\$)	UNIT COST (\$)	AMOUNT (\$)
-	1 Abulments)	70	LF	\$400.00	\$28,000.00	\$250,00	\$17,500,00
-	2 Common Excavation	375	CY	\$80.00	\$11,250,00	\$35,00	\$13,125,00
-	3 Construction Engineering / Staking		1.5	\$6,000.00	\$5,000.00	\$7,600.00	\$7,600,00
	4 Grubbling/Clearing of Right-of-Way (includes Stump Removal)		LS LS	\$6,000,00	1	\$6,500,00	\$5,600.00
-	5 Potholing for Utility Locates		LS	\$2,500,00	1		\$2,760,60
-	6 Removal of Concrete	60	- gY	\$15,00			\$2,000,00
 	7 Removal of Curb	20	LF	\$15.00		\$22,50	\$450.00
-	8 Concrete for Sidewalk (4")	850	¥Y	\$40,00		\$45,00	\$38,250,00
	9 Concrete for "Curbiace" Sidewajk, with "V-Loc" (5") O Concrete for Residential Drive Approach (5")	210	SY	\$60,00 \$68,00	\$12,600,00	\$55.00	\$11,550.00
	Concrete for Commerical Drive Approach (6")	150	SY	\$65,00	\$1,100,00 \$9,750,00	\$65,00 \$65,00	\$1,100,00 \$9,750,00
[Concrete for Wingwelk and Ramps (6") (Includes Curb at Back of Ramp)	10	SY	\$160,00	\$1,600,00	\$125,00	\$1,250.00
	3 Concrete Curb, Type "Il-B", with Asphalt Fatch, if Necessary	20	LF	\$40,00	\$800.00	\$45.00	\$900.00
}	ADA Solutions, Amor Tile, or Armor Cast "Wet Set" 2'x5' Composite Tacille Waming Surface Unit	1	EA	\$250,00	\$250,00	\$250,00	\$250,00
[Life Preserver/Rescue Stallon, Remove and Reset	3	EA	\$250,00	\$760,00	\$250,00	\$750,00
) Topsall	300	TON	\$30,00	\$9,000,00	\$25,00	\$7,500,00
1-	Hydrosaed with HydroSilk or Equivalent Polymer Tackiller for Erosion Control	2500	SY	\$5.00	\$12,500,00	\$2,60	\$6,250,00
18	Type "O" Compacted Aggregale for Base, No. 53	250	TON	\$25,00	\$6,260,00	\$25.00	\$6,250,00
16	Linear Grading	11	l.s_	\$5,000,00	\$5,000.00	\$12,500,00	\$12,500,00
20	Riprap, Revelment, 18", over Geolexille for Wead Banjer	50	SY	\$60.00	\$3,000,00	\$75.00	\$3,750.00
21	Temporary Sill Fance, for Erosion and Sediment Control	100	Į,F	\$10,00	\$1,000.00	\$2,60	\$250,00
	Existing Structure, Remove	22	EA	\$1,000,00	\$2,000.00	\$250.00	\$500.00
29	Reconnect Existing Pipe (15" RCP), includes all Necessary Pipe (15" PVC) & Fittings	11	EA.	\$1,600.00	\$1,600.00	\$2,760.00	\$2,760,00
24	36"x72" Junction Box talet finclades all Necessary Pipe & Fillings)	11	EA.	\$3,750,00	\$3,760,00	\$5,880,00	\$5,880,00
26	30" Round Infet with Courcrete Curb Yum-Qut Sanitary Machole "Low-Profile" Casting, Furnish and Adiust to Grade (Neenah R-1847	11	EA	\$2,500,00	\$2,630,00	\$1,850,00	\$1,850.00
26	or East Jorden 1037Z Frame w/1020AHDGS w/ "Sanilary" Lettered Solid Lid) Storm Manhole "Low-Profile" Casting, Fumilah and Adjust to Grade (Neenah R-1647	 1	EA	\$750,00	\$760,00	\$550.00	\$550.00
27	w/R-4351-D Beehive Grate or East Jorden 1097Z Frame w/6609-O Beehive Grafel) Storm Casting, "Beehive", Fumish and Adjust to Grade (Neensh R-1772 w/R-4351-D	1	EA	\$750,00	\$760,08	\$550.00	\$650,00
	Bechive Grale or E.f 1022Z1 wi6509-O Beehive Grale)	11	EA	\$750,00	\$750,00	\$550,00	\$550,00
	Existing Custing, Adjust to Grade Pipe, Circular, 12", Duel-Walled, Corrugated, Perforated HDPE, In Geofabric Sock	3	EA .	\$300.00	\$900,00	\$175.00	\$525,90
	(Includes Excavalion, Bedding, and fill Aggregate Buckill in Geotexille-Lined Trench)	140	LF	\$45.00	\$6,300.00	\$76.00	\$10,500,00
	Water Velve / Service Curb Box, Adjust to Grade	5	EA	\$150.00	\$760,00	\$250,00	\$1,250.00
	Sediguard or Approved Equal Intel Protection Device for Sediment Control	2	EA	\$100,00	\$200,00	\$25,00	\$50.00
	Construction Signs, Type "A"	10	EA .	\$150.00	\$1,590.00	\$125.00	\$1,250.00
	Melatanance of Traffic Mobilization / Demobilization	1	is is	\$7,500.00 \$10,000.00	\$7,500.00 \$10,000.00	\$4,750.00	\$4,750,00
7	Manuzahunt Demonazakon Work Allowance	1	29	\$15,030.00	\$15,000.00	\$15,000,00	\$7,590,00 \$15,000.00
	Pipe, Circular, 12°, Dual-Welled, Corrugaled, HDPE, (Includes Excayation, Bedding, end its Aggregate Backfil)	20	LF	\$40.00	\$800.00	\$85.00	\$1,700.00
	12" Melel Pipe End Section -	2	EA	\$250.00	\$500.00	\$450,00	\$900,00
							

COUNCIL DIGEST SHEET

Enclosed with this introduction form is a tab sheet and related material from the vendor(s) who submitted bid(s). Transportation Engineering Services is providing this information to Council as an overview of the St Joe Center Road Sidewalk: ±1350' East of Reed Road to Maplecrest Road award.

RFPs & BIDS

Bid/RFP#	0108W
Awarded To	Garcia Concrete
Amount	\$205,180.00
Conflict of interest on file?	
Number of Registrants	5
Number of Bidders	3
Attachments	BID TAB ANALYSIS SHEET AND AWARD

EXTENSIONS

Date Last Bid Out	N/A
# Extensions Granted	N/A
To Date	

SPECIAL PROCUREMENT

Contract #/ID	0108W
(State, Federal,	
PiggybackAuthority)	
Sole Source/	N/A
Compatibility Justification	

BID CRITERIA (Take Buy Indiana requirements into consideration.)

Most Responsible, Responsive Lowest	X Yes	□No	If no, explain below	
If not lowest, explain	N/A			

COUNCIL DIGEST SHEET

COST COMPARISON	
Increase/decrease amount from prior years For annual purchase (if available).	N/A
DESCRIPTION OF PRO	OJECT / NEED
Identify need for project &	SEE ATTACHED COMMON COUNCIL SUPPLEMENTAL
describe project; attach supporting documents as	SEE ATTACHED COMMON COUNCIL SUFFLEMENTAL
necessary.	
REQUEST FOR PRIOR Provide justification if prior approval is being requested.	
FUNDING SOURCE	
Account Information. \Box	<u>.IT</u>